117 115 90 115 96° 115 121
130 130 130
479 756 | 18]l 4.0 | s0

| s0
T

4748

9.19

2] |
T

3.263

50

—

—

==

7]
(0]

j— Schlafen

11.47m*

=

L

—e—

T
O

Wohnen

19.87m? @

o o

U

Brandwand F90-A

J;_z@

Brandwand F90-A

Kochen
9.12m?
Bestands- ————
fenster Bestands-
fenster

sol 2.0 20\ ] 1.95° H 1 2.3p 50

Jﬁ [Tms“ n 99¢ 1578

130 120

7.728

1.0bergeschoss

50

4748

20

_1LT9.86

k.
|50]

9.19

4748

2]

3243

50

7.70
ol 80 | 100 ] o0 ] 15 | oo ] s | s |60
110 110 110 110
475 6.72° 50
I
1—__—| i=_| A
L i
L
[]D Wohnen
(==} 33.46m* b
<+
< un
S
. O g
3 g 2
Bl |V d_p ||
/o e—=D & 2
:‘; A :5 % Q & &
H S —
a5 re:
=]
—
w
§
o
Bestands- ?n—
fenster Bestands-
fenster
50 2.10 zot l 139° HHS 298 \50
919 [msL 996 1.575[
130 120
730

2.0bergeschoss

Anlage 2




